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[bookmark: _Ref488331639][bookmark: _Ref178064866]Introduction
In the last RAN2 meeting, one left issue is on best match. 
How does the UE judge “best-match”?
-	P3 in R2-2300126: Up to UE implementation
-	P2 in R2-2300343: based on PDB based best-match
-	P4 in R2-2300119: based on PDB and default priority associated with PQI
-	P4 in R2-2300970: based on smallest mean deviation”
Discussion
For whether to leave  the ‘Best-Match’ to UE implementation, or rely on specified behavior, the concern on the latter manner mainly comes from:
The standardized-PQI to CAPC table was concluded not only based on PDB, but also based on service-type (e.g., mission-critical or not). Therefore, if a specified rule is to be designed, it cannot be purely PDB based (e.g., considering we map standardized-PQI of 25/26 to different CAPC levels, even though they are with the same PDB value). Yet that means further complexity of the rule (if needed).
[bookmark: _Toc131674565]There is a concern on the complexity of a specified ‘best-match’ rule. 
Obviously, the added complexity of UE conformance test is high. 
[bookmark: _Toc131674566]There is a concern on the caused complexity of UE conformance test. 
In NR-U, we leave all to network configuration. Following the same spirit, we have agreed that the UE-derivation is unnecessary as long as network has provided per-bearer CAPC value. So we already have a solution, if one holds concern on unaligned UE behavior in case it is left to UE implementation. And the additional value only comes from the case that 1) network has not provided the value, plus 2) the PQI is not standardized. Yet that seems not to justify the complexity of specification effort here.
[bookmark: _Toc131674567]There is doubt on the benefit of the effort of a specified ‘best-match’ rule.
So it is proposed not to pursue a specified rule for ‘best-match’.
[bookmark: _Toc131674570]RAN2 not pursue specified rule for the ‘best-match’ judgment. 
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[bookmark: _Toc114153059]Conclusion
We have the following observations:
Observation 1	There is a concern on the complexity of a specified ‘best-match’ rule.
Observation 2	There is a concern on the caused complexity of UE conformance test.
Observation 3	There is doubt on the benefit of the effort of a specified ‘best-match’ rule.

We have the following proposals:
Proposal 1	RAN2 not pursue specified rule for the ‘best-match’ judgment.
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